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QUESTION 1

Which two of the listed Analysis tab badges can be used to determine capacity risks in an environment? (Choose two.)
A. Time Remaining

B. Faults

C. Capacity Remaining

D. Anomalies

E. Compliance

Correct Answer: AC

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/6.3/com.vmware.vcom.core.doc/ GUID-
E6C50B5D-6FB5-4BD4-BDD3-E9536B30F12B.htm

QUESTION 2

Which process can help reduce resource over-allocation in the environment? (Choose the best answer.)

A. Investigating and acting upon the "Virtual Machine quest file systems are running out of disk space\\' alerts
B. Investigating and acting upon the vSphere Hardening alerts

C. Running the Network Traffic by VM report and taking action based on this data

D. Running the Oversized VM report and taking action based on this data

Correct Answer: D

QUESTION 3

Which two badges are Risk sub-badges? (Choose two.)
A. The Fault badge

B. The Capacity Remaining badge

C. The Anomaly badge

D. The stress badge

E. The Workload badge

Correct Answer: BD
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Reference http://vmwaredevotee.com/2012/11/27/badges-in-vcenter-operations-manager/

QUESTION 4
Which two statements are true about vRealize Operations (VROps) high availability (HA) clusters? (Choose two.)

A. Enabling vROps HA cluster duplicates the data ingested and compresses the data, thereby NOT increasing the
storage requirements.

B. VROps HA cluster doubles as a disaster recovery solution duplicating data in nodes across data centers.
C. Enabling vROps HA cluster duplicates the data ingested into the system.
D. If two or more nodes are lost in a VROps HA cluster environment, data is permanently lost.

Correct Answer: CD

QUESTION 5

In vRealize Operations terminology, a plug-in is added to expand the functionality of which component?
A. Notifications

B. Policies

C. Endpoint Operations Agent

D. Dashboards and Reports

Correct Answer: C

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-61/topic/com.vmware.|Cbase/PDF/ endpoint-
operations-management-agent-61-plugin-development-kit.pdf
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